
SAP ABAP table P08_ABS_OVERVIEW_OUTPUT {Absence data overview (Absecnce reporting)}

P08_ABS_OVERVIEW_OUTPUT

WERKS [CHAR (4)]

BTRTL [CHAR (4)]

PERSG [CHAR (1)]

PERSK [CHAR (2)]

ORGEH [NUMC (8)]

ABKRS [CHAR (2)]

PREAS [CHAR (2)]

AWART [CHAR (4)]

PRAKN [CHAR (2)]

OTYPE [CHAR (2)]

PLANS [NUMC (8)]

AINFT [CHAR (4)]

WAERS [CUKY (5)]

OCRSN [CHAR (4)]

FAPRS [CHAR (2)]

T001P

MANDT [CLNT (3)]

WERKS [CHAR (4)]

BTRTL [CHAR (4)]

 P08_ABS_OVERVIEW_OUTPUT-BTRTL = T001P-BTRTL 

0..N

0..N

T500P

MANDT [CLNT (3)]

PERSA [CHAR (4)]

 P08_ABS_OVERVIEW_OUTPUT-WERKS = T500P-PERSA 

0..N

0..N

T501

MANDT [CLNT (3)]

PERSG [CHAR (1)]

 P08_ABS_OVERVIEW_OUTPUT-PERSG = T501-PERSG 

0..N

0..N

T503K

MANDT [CLNT (3)]

PERSK [CHAR (2)]

 P08_ABS_OVERVIEW_OUTPUT-PERSK = T503K-PERSK 
0..N

0..N

T510P

MANDT [CLNT (3)]

MODIF [NUMC (2)]

PRAKN [CHAR (2)]

PRAKZ [NUMC (4)]

ENDDA [DATS (8)]

 P08_ABS_OVERVIEW_OUTPUT-PRAKN = T510P-PRAKN 
0..N

0..N

T527X

MANDT [CLNT (3)]

SPRSL [LANG (1)]

ORGEH [NUMC (8)]

ENDDA [DATS (8)]

 P08_ABS_OVERVIEW_OUTPUT-ORGEH = T527X-ORGEH 0..N

0..N

T528B

MANDT [CLNT (3)]

OTYPE [CHAR (2)]

PLANS [NUMC (8)]

ENDDA [DATS (8)]

 P08_ABS_OVERVIEW_OUTPUT-PLANS = T528B-PLANS 0..N

0..N T52OCR

MOLGA [CHAR (2)]

OCRSN [CHAR (4)]

 P08_ABS_OVERVIEW_OUTPUT-OCRSN = T52OCR-OCRSN 
0..N0..N

T530E

MANDT [CLNT (3)]

INFTY [CHAR (4)]

PREAS [CHAR (2)]

 P08_ABS_OVERVIEW_OUTPUT-PREAS = T530E-PREAS 

0..N

0..N

T549A

MANDT [CLNT (3)]

ABKRS [CHAR (2)]

 P08_ABS_OVERVIEW_OUTPUT-ABKRS = T549A-ABKRS 

0..N

0..N

T554H

MANDT [CLNT (3)]

FAPRS [CHAR (2)]

 P08_ABS_OVERVIEW_OUTPUT-FAPRS = T554H-FAPRS 

0..N

{0,1}

T554S

MANDT [CLNT (3)]

MOABW [NUMC (2)]

SUBTY [CHAR (4)]

ENDDA [DATS (8)]

 P08_ABS_OVERVIEW_OUTPUT-AWART = T554S-SUBTY 

0..N

0..N

T582A

MANDT [CLNT (3)]

INFTY [CHAR (4)]

 P08_ABS_OVERVIEW_OUTPUT-AINFT = T582A-INFTY 

0..N

0..N

T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]

 P08_ABS_OVERVIEW_OUTPUT-OTYPE = T778O-OTYPE 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 P08_ABS_OVERVIEW_OUTPUT-WAERS = TCURC-WAERS 

0..N

0..N


